SBMEI FafhRRERERE (5B—uh)

BT8R B1E 201443 H23H
1 IR VS 9 hliiES
A= =
TR FIES FIES TR
b | )29/ 8 R 5KEE | B NS R IIBRX
B BREE 7 : {afEks B REZ 79 : fhELT
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo x 4H +1 -450 R 4H +2 -480 1
> |kl & | 2s | = | 20|l & | 3s | +2 | 170 | 2
3 |mAm| & | aNnT | 2 | 100 & | scx | = | 550 12
4 |wal = | e | = |-2370] ® | a1 | = | 620 13
5 2] R 4H +1 -450 x 6H -1 50 11
6 |ZRA| dt 3S +1 | 170 1t 3S +1 | 170
7 =] 1t 3NT +2 660 [£3] 4H +2 680 1
8 |wx|l % | 2s | 2| so | ®# | 2s | 2| s0
9 panyiic] x INT -1 100 x INT -1 100
10| wa| 46 | 4s | +3| 70| 4t | 4H | +2 | 680 | 1
11 |wxl & | 3c | = | 10| 4t | 31 | = | 140 6
12 | @it x 3NT +2 -460 R 3NT +1 -430 1
DATUM%it L
Rl ALLES 7. X ] 4 | a4
K/ ZREEE -37  MIER/RZZ 10 ait 4 44
IEX/EHELL -10 SKERZE /(NS 37 V.P. 1.22 | 18.78




SMEI FafhRRERERE (5B—uh)

7R 2K 201443 H23H
2 [ 5t VS 3 F®IEE
= 1=
M Eehi RAEE RAEE M Eehi
it : BER X BREE it : = R XU
B IS 79 : BAK B AE= 79 : 5KJFH
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | XWE| &R 4H +2 | -480 | & 4aH +2 | -480
2 |gEit| & 2S = | -110 | & 3D | -1 | -100
3 |FA| & 5 | = | 400 ] B | 5cx | = | 550 4
4 |wal & 6C | = |-1370| =%® 6D | = |-1370
5 |Eitl &F 4aH +1 | -450 i} 4H +1 | -450
6 |FAm| 4t 2s | +1 | 140 | 4t 4S = | 420 7
7 |XWAE| E 5H | +1 | 680 | ®5 4H | +2 | 680
8 |wx| ® 2s | -2 | 100 | 7 2s | -2 | 100
o |&mA| % | ANT | -2 | 100 | Zx | INT | -2 | 200 3
10 |wa| 4t | eNT | = | 1440 ]| it 6S | +1 | 1460 1
11 | WwE| 7 3c | = | 110 | 7 3c | -1 | 50 4
12 |@dt] zZ& | 3NT | +3 | -490 | #Z® | 3NT | +2 | -460 1
DATUM%iit 5 E
5t wIEE v 5 ] 20
SDER/ TEE  -12 FEF/AE= 8 ait 20
XUFA/3K PR -8 BB S /BRRR 12 V.P. 4.42 | 15.58
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7R %3 201443 H23H
6 BEMER VS 8 MLt
= H=
BMNER TINETAE TINETAE BMER
it - B R BRW it : BReER x BTk
g FhETR 7 mXfE g AR g : fHR
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | WEl & 5C | +1 | 420 | & A4H | +2 | -480 | 2
2 |&dtl &= | aNT | = 90 74 4S = | -a20 | 12
3 |&AE| m | ecx | = | 1090] & | 5Hx | -2 | 500 | 11
4 |wB| 7 | 3NT | +2 | -660 | 7 6D = |-1370]| 12
5 | @it A 4aH +1 | -450 R 4H +1 | -450
6 |&A| dt 3s = 140 1t 4Ss = | 420 7
7 |XWAE| E 4H | +2 | 680 | m 4H | +2 | 680
8 |WE| & 2S -1 50 6t | INT | = 90 1
o |FAE| &= | aNT | 2 | 200 | & | aNT | -2 | 200
10 | W& db 6S | +1 | 1460 | 4t 6S | +1 | 1460
11 | Wkl 7 3C = | ;120 | #HF® 2S -2 | 100 5
12 | @bl Zx | 3NT | +2 | 460 | %k | 3NT | +3 | -490 | 1
DATUM%iit 5 E
EME=R AR 7, 5 -] 37 | 13
B/Dfe/shiTEE 23 BERLC B/ Rk -1 ait 37 | 13
BT R/ P23 1 S5RI/EXE -23 V.P. 16.37 | 3.63




SBMEI FafhRRERERE (5B—uh)

7R %4 5 201443 H23H
4 EiBEHN VS 5 BAX{_1k
= H=
[EZR=TIpAl BARI—1E BARI—1E [EZR=7IpAl
it : BREEH R REX it : {AEE IR LERE
B : hehE Fis == EZRR IS 7 : SKFRFE
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | XWE| &R 4H +2 | -480 | & 4aH +2 | -480
> |gitl m | 3p | -2 | -100] &/ | 25 | = | -110
3 |mmE| & | scx | = | 550 | & | eHx | -3 | 800 6
4 |wal|l = | ep | = |-1370] &= | 6D | = |-1370
5 |mit] @ | eH | 2 | 50 | & | 4H | +1 | 450 | 11
6 |zAml 4t | 2s |+2 | 170 4t | 4s | 2 | 50 | 6
7 |wa| 4 | aNT | +1 | 630 | B | 6H | +1 | 1460 13
8 |wxl m | a0 | 2 | -100] & | 2sx | -1 | 100 5
o |&Aml & | aNnT | -2 | 200 %% | aNT | -2 | 100
10 | W& db 6S | +1 | 1460 | 6S = | 1430 1
117 | Wkl 46 [ aNT | = | 400 | 4t | 3H | = | 140 | &
12 |@gt|] 7 | sD | = | 400 | %% | 3NT | +3 | 400 | 3
DATUM%iit L
E3)iipa) BARI—b 7. X ] 27 | 24
BERBEL/ R 13 BIEETARRAPS 14 ait 27 | 24
EF/ARFE 14 REN/mE] -13 V.P. 11.05 | 8.95
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7R %5 5 201443 H23H
7 Ykigrhig VS 10 '&=Fa
= =
BRI FEFa FEFE PRI
it : Z2H IR R it : KIF= K . R
B B 7 e % VT 7 ST
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wx| & | 44 | +1 | 450 &&= | 4H | +2 | 480 ]| 1
2 |@mitl m | 3D | -1 | -1200] & | 25 | +2 | 170 2
3 || & | scx | = | s50 | & | 4Hx | +1 | 990 | 17
a |wal|l m | sc | +2| 640| %= | oD | = |-1370| 12
5 | @it A 4aH +1 | -450 R 4H +1 | -450
6 |&HAm| 4t | 4s | = | 420 | 4t | 4s | = | 420
7 |wal & | a0 | +2 | 680 | 4t | 3NT | +2 | 660 | 1
8 Wkl x| 2s | 2| 100 % | 2s | = | -1120] 5
o |mm| & | anT | 2| 200 %% | aNT | -2 | 100
10 |wa| & | eNT | = | 1440 & | 6s | +1 | 1460 1
11 | L) b 3H -1 -50 7 3C = | -110 2
12 || & | aNT | +3 | 490 | z® | 3NT | +3 | -490
DATUM&it iFEE
rkigrhig I"'&Fa r: 5 ] 40 1
RH/BE%E 18  GKIE=/7Am  -28 ait 40 | 1
FWEER 28 R /H%e -18 V.P. 18.66 | 1.34




